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Incomplete Sentences

1.

A bailout-wear Congress concluded a US$14 billion package to aid (A. struggle
B. struggling C. struggled D. struggles) U.S. automakers this week.

Oil prices dropped sharply to below $46 a barrel. (A. Indeed B. Similarly C.
Likewise D. However), airlines have not lowered their fuel surcharge.

One of the biggest car makers has outlined (A. ambition B. ambitious  C.
ambitions D. ambitiously) plans for a series of acquisitions to broaden its
product range.

Technology stocks looked set to shine again after some computer giants’
earnings (A. are B. has C. were D. had) updated last Monday.

Consumers are waiting for the next version of Internet Explorer, as its features
(A. making B.made C.makes D.make) it more accessible to disabled users
of the Web.

Taipei Tobacco & Liquor, (A. who B.that C. where D. which) controls about
40 percent of the island’s $800 million-a-year beer market, is looking for
overseas partners.

A too-fast heartbeat (A. on B.in C. to D. for) early adulthood is a warning
sign of increased risk of cardiovascular problems decades later, a Japanese study
suggests.

Compco Wholesale Corporation’s quarterly profit rose slightly (A. as B. also
C. yet D. so) revenue rolled in from its gasoline stations.

New York officials approved some of the toughest anti-tobacco rules in the U.S.,
(A. extinguish B. extinguishes C. extinguishing D. extinguished) the business
of many cigar bars.

The answers are on the next page.

Answers: BDBCD DBAC



